Best model for HELP J161604.984+555238.962 at z = 1.65 y2=2.32
OPTx2=1.42 IRx?=5.18 threshold (OPT IR)=21.2 [um]

2
10 Stellar attenuated
] e s Stellar unattenuated
1 ] . —— Dust emission
10 . m R[] —— AGN emission
1 = Model spectrum
0 _' : ® Model fluxes
10 E . M oObserved fluxes
; 10—1 4
E- T TN
Ly ristn ~o
— LN
X 1072 E
™ E
10—3 .
10—4 4
3 5
a0 1 3
= ] ==f=(Obs-Mod)/Obs
3 ]
S ]
b ]
] o S — e ————————————————
o ]
) ]
2 ]
© -1 —  CIGALE
(V]
[a'd

10° 10! 107 103 104 10° A
Observed wavelength [um]



